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@ met.ie

MET The Irish Meteorological Service
éireann

indicatorOfParameter:40,level:4
2018-12-07 13:00:00
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Cross-sections

Section of {'GRIB': 'indicatorOfParameter:33'} between
<-(-28.0, 54.0) and (-22.0000000001, 56.0) ->
2018-12-07 13:00:00
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b B The Irish Meteorological Service

Cross-sections through noise region
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9 Namelist settings met.ie

g?eEchn { LGWADV, LRD BBC} The Irish Meteorological Service

Valid: 12UTC on Fri-07-Dec-2018 i
Run: 00UTC on Fri-07-Dec-2018 ] i
Step: +012hr

—

Valid: 12UTC on Fri-07-Dec-2018
Run: OOUTC on Fri-07-Dec-2018 ‘—"
Step: +012hr

20.1%0 15.1°w 10.1°wW 5.1°W 0.1%%? 4.9°E

N LN

15.1°W 10.1°W 5.1°W  0.1%9¢? 4.9°F

{False, True} {True, False}
Default in HIRLAM configurations
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9 Namelist settings met.ie

g?eEchn { LGWADV, LRD BBC} The Irish Meteorological Service

Valid: 12UTC on Fri-07-Dec-2018 i
Run: 00UTC on Fri-07-Dec-2018 ] i
Step: +012hr

—

Valid: 12UTC on Fri-07-Dec-2018
Run: OOUTC on Fri-07-Dec-2018 ‘—"
Step: +012hr

20.1%0 15.1°w 10.1°wW 5.1°W 0.1%%? 4.9°E

N LN

15.1°W 10.1°W 5.1°W  0.1%9¢? 4.9°F

{False, True} {True, False}
Default in HIRLAM configurations Unstable with VESL
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Experiment
noise

noise_dt60
noise_quad
noise_cub

noise_LCOMADW
noise_LNBC
noise_blending
noise_sponge

noise_dtB0

noise_dt30

noise_hrbranch

Details (reltive fo defaull operational “noise” experiment)

Default iedd operational set-up

TSTEP=G6D
Quadratic grid
Cubic grid
LCOMADW=T
LUNBC=no

Blending instead of 30Var
LNSPOMNGE=T

TSTEP=80

TSTEP=30

Default HR branch, i.e. none of cur iedd local changes

noise_hrbranch noHAR HR branch with HARATU=no

noise_lgm
noise_lsettlsF
noise_nitmps
noise_nocomad
noise_sitral00

noise_pc
noise_pc_dt60
noise_ici2

noise_vesiDl
noise_vesiz2
noise_vesils
noise_ves|

noise_rdampl0
noise_rdampl

noise_rdampla
noise_rdamppd

noise_lpwady

noise_Irdbbc

noise_chmi
noise_chmitest2
noise_chmitest3

MNoise Comments

Yes

Yes
Yes
Yes
Yes Much noisier

es Different noise patterns, less noisey

Different noise patterns, locations
fes and times. More noisey.

HARATU=no, high-levelwinds are a
bit weaker, don't hover around Courant=2

Yes ‘ery similar to our iedd now

|LOM{PD, T V=T

L‘f’es

LSETTLS=F
Mo, of iterations for SL trajectories, NITMP=5
LCOMAD*=F

Cold 5l reference temperature SITRA=100

LPC_FULL=T; NSITER=1; LPC_MESC=T:
LPC_CHEAP=T: LSETTLS=F; LPC_MNESCT=F:

As noise_pc, but TSTEP=60
As noise_pc, but NSITER=2

WESL=0.01
WESL=0.02
WESL=0.05
WESL=0.1

RDAMP*=10 (with RDAMPPD=200000)
RDAMP*=1 (with RDAMPPD=200000)
RDAMP™=1 (with RDAMPPD=5; RDAMPQ=0)
RDAMPPD=20

LGWADW=T, LRDBBC=F
LGWADW=F, LRDBBC=F

CHMI namelist, but NWDWVAR=3
CHMI namelist, as close as | could get
Like above, but RDAMP™ as default

Yes Even noisier
Yes
Yes

Yes

Yes Lots more noise, different patterns

-‘Hllenl' small amount of noise
Yes Lots more noise, different patterns

Yes Less noise than when VESL=0

Yes Much noisier

Yes

Unstable, must have NVDWVAR=4
MIA (or dt=30s)

Main noise gone
Similar

met.ie

sh Meteorological Service
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Valid: 09UTC on Sat-07-Oct-2017
Run: 00UTC on Fri-06-0ct-2017
Step: +033hr

PC settings from CHMI

variance spectrum (SI)

variance spectrum (SI)
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2.5km

750m quad CHMI

750m quad nested CHMI
750m cubic SETTLS
750m quad RDAMP=1
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750m quad CHMI

750m quad nested CHMI
750m cubic SETTLS
750m quad RDAMP=1
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